

$$g'(x) = (x \cdot \tan x - \sqrt{x} \sin x) \quad f'(\tan^2 x + \sqrt{x} \cos x) = \frac{x}{\sqrt{x}}$$

$$(x+1)f'(x) = \sqrt{x} = \frac{1}{2}f'(x) = \sqrt{x} \rightarrow f'(x) = \frac{\sqrt{x}}{2}$$

(۱,۵)

$$\frac{(x+\cos x)(x-2\cos x + \cos^2 x)}{(x+\cos x)(x-\cos x)} \Rightarrow \frac{x-2\cos x + \cos^2 x}{x-\cos x} - \frac{x(x)}{x-\cos x} \Rightarrow$$

$$\frac{-2\cos x + \cos^2 x}{x-\cos x} \Rightarrow \frac{-\cos^2(x-\cos x)}{x-\cos x} \Rightarrow -\cos x = f'(x) = f'(x-2g) \Rightarrow$$

$$+\sin x \Rightarrow x = \frac{x}{2} = \frac{1}{2} \quad \checkmark$$

$$x\sqrt{x} = x \Rightarrow x = \sqrt{x} \Rightarrow \frac{x}{\sqrt{x}} = \sqrt{x} \Rightarrow (x-1)\sqrt{x} \Rightarrow f'(x) = \sqrt{x} \Rightarrow f'(x) = 0 \Rightarrow$$

$$x = \frac{x}{2} \Rightarrow \sqrt{\frac{x}{2}} = \sqrt{x} \Rightarrow a = \frac{1}{2} \quad \checkmark$$

$$y = -ax + 1 \Rightarrow f(x) + f'(x) \Rightarrow (-ax + 1) + (-a) \Rightarrow -ax + 1 - a$$

$$a = \frac{x}{2}$$

$$f'(x) = -a = -\frac{x}{2} = -\frac{1}{2}$$

(۱,۷۵)

$$y = \frac{x+\omega}{V} \Rightarrow \frac{(x)(x+1) - (x)(x-1)}{x^2+1} = \frac{1}{V} \Rightarrow Va = x^2 + 1 \Rightarrow$$

$$\frac{ax-1}{x^2+1} = \frac{x+\omega}{V} \Rightarrow Van - V = x^2 + 1 + \omega x + \omega \Rightarrow (Va = x^2 + 1) \Rightarrow$$

$$12 - 4x = 0 \Rightarrow x = 3 \Rightarrow x^2 + 1 = 10 \Rightarrow 9 + 1 = 10 = Va \Rightarrow a = 3 \quad \checkmark$$

$$f' \Rightarrow m' + a \Rightarrow x = r \Rightarrow 1r + a = 0 \Rightarrow \underline{a = -14} \quad / \quad \underset{-14}{1 + 1a - b} \Rightarrow \underline{b = -15}$$

$$b - a = -14 - (-14) = \underline{\underline{0}} \quad \checkmark$$

$$\lim_{n \rightarrow \infty} \frac{\sin^n(u^r) \times n \sin^{n-1}(u^r) \times \cos(u^r) \times (u^n)}{\left(r \sin^r \frac{u}{r}\right)^n} \xrightarrow{\text{L'Hôpital}} \lim_{n \rightarrow \infty} \frac{(u^r)^n (u^r)^{n-1} \times u^n}{\left(r \left(\frac{u}{r}\right)^r\right)^n} =$$

$$\lim_{n \rightarrow \infty} \frac{k_n k_{n-1} \dots k_{n-r+1}}{\left(\frac{q^r}{p}\right)^n} = \lim_{n \rightarrow \infty} \frac{k_n a^{n-1}}{\frac{1}{p^n} a^{n-1}} = \lim_{n \rightarrow \infty} p^{n+1} a^{n-r+1} \rightarrow \text{حاصل حد عددی نیست غیر از 0 و 1}$$

$$\begin{cases} E_n - E_{n-1} = \dots \rightarrow n = \frac{E_{n+1}}{E} \\ r^{n+1} \\ n = r\sqrt{r} \end{cases} \rightarrow r^{n+1} \times \frac{E_{n+1}}{E} = r\sqrt{r} \rightarrow (r_{n+1}) r^{n+1} = r\sqrt{r} \rightarrow n = \frac{r}{r} \quad E_n + n = 9$$

$$\frac{\sqrt{n+1}}{\sqrt{n-1}} \stackrel{1. \text{Quot}}{=} \frac{\left(\frac{1}{\sqrt{n+1}}\right)(\sqrt{n-1}) - \left(\frac{1}{\sqrt{n-1}}\right)(\sqrt{n+1})}{\left(\frac{1}{\sqrt{n+1}}\right)\left(\frac{1}{\sqrt{n-1}}\right)} \stackrel{2. \text{Quot}}{=} \frac{-1}{(\sqrt{n+1})(\sqrt{n-1})}$$

$$\frac{r\sqrt{x}-1}{r\sqrt{x}(\sqrt{x}-1)^r} = \frac{r\sqrt{x}-1}{r\sqrt{x}(\sqrt{x}-1)^r} \cdot \frac{x(\sqrt{x}+1)^r}{x(\sqrt{x}+1)^r} = \frac{(r+\sqrt{x})(\sqrt{x}+1)^r}{r\sqrt{x}}$$

$$0 \Rightarrow 1 / -1 \Rightarrow (1)(-a+1) = 1 \Rightarrow a = \frac{-1}{1} \Rightarrow$$

$$\bullet -\gamma a = 1 \Rightarrow \psi(x+1)^{\gamma} (\gamma x) (ax+1) + (a) (x+1)^{\gamma} \Rightarrow 1\gamma - \gamma = \frac{1}{x} \quad \text{⑦}$$

$$\frac{y_2 - y_1}{x_2 - x_1} = \frac{y'_2 - y'_1}{x'_2 - x'_1} \Rightarrow \frac{y_2 - y_1}{x_2 - x_1} = \frac{y'_2 - y'_1}{-1} = -\frac{y_2 - y_1}{x_2 - x_1}$$